### CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER NO. 2F 2002 MILL AND OVERLAY PROJECTS ST02-1158

#### MAY 16, 2002

## ORIGINAL CONTRACT AMOUNT: \$366,307.35 CONTRACTOR: SIMON CONTRACTORS OF SOUTH DAKOTA

LINE ITEM	DESCRIPTION	UNIT	CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	INSTALLED QUANTITY	INSTALLED PRICE	NET CHANGE
SCHEDULE 1	- DAKOTA RIDGE STREETS							
1	MOBILIZATION	LS	1.00	\$4,000.00	\$4,000.00	1	\$4,000.00	\$0.00
2	ADJUST MANHOLE RING & COVER	EA	36.00	\$170.00	\$6,120.00	36	\$6,120.00	\$0.00
3	ADJUST VALVE BOX	EA	5.00	\$100.00	\$500.00	0	\$0.00	(\$500.00)
4	SUGAR ROCK, 3" TO 6" NOMINAL	Т	100.00	\$17.00	\$1,700.00	631.85	\$10,741.45	\$9,041.45
5	REMOVE & DISPOSE ASPHALT PAVEMENT	SY	220.00	\$3.00	\$660.00	1310.7	\$3,932.10	\$3,272.10
6	REMOVE & REPLACE CURB & GUTTER	LF	109.00	\$19.00	\$2,071.00	163.5	\$3,106.50	\$1,035.50
7	REMOVE & REPLACE SIDEWALK	SF	160.00	\$5.00	\$800.00	236.25	\$1,181.25	\$381.25
8	MILL & REMOVE ASPHALT CONCRETE PAVEMENT	SY	10540.00	\$0.75	\$7,905.00	10540	\$7,905.00	\$0.00
9	AGGREGATE BASE COURSE	Т	125.00	\$19.00	\$2,375.00	697.99	\$13,261.81	\$10,886.81
10	CONCRETE DRAIN PAN (REINFORCED), 6"	SY	84.00	\$50.00	\$4,200.00	83.5	\$4,175.00	(\$25.00)
11	AC OVERLAY, CLASS G, TYPE 1, 2"	SY	21992.00	\$4.00	\$87,968.00	21992	\$87,968.00	\$0.00
12	AC LEVELING COURSE, CLASS G, TYPE 2	TON	930.00	\$38.00	\$35,340.00	1506.45	\$57,245.10	\$21,905.10
13	AC FULL DEPTH REPAIR, CLASS G, TYPE 1	SY	220.00	\$9.00	\$1,980.00	1327	\$11,943.00	\$9,963.00
14	SODDING	SY	40.00	\$3.15	\$126.00	17.76	\$55.94	(\$70.06)
15	TRAFFIC CONTROL	LS	1.00	\$1,250.00	\$1,250.00	1	\$1,250.00	\$0.00
16	INCIDENTAL WORK	LS	1.00	\$2,875.00	\$2,875.00	1	\$2,875.00	\$0.00

	CHANGE ORDER NO. 1							
17	ASPHALT DIGOUTS	TON	94.20	\$78.00	\$7,347.60	95.2	\$7,425.60	\$78.00
		тот	AL SCHEDULE 1		\$167,217.60		\$223,185. <b>7</b> 5	\$55,968.15
SCHEDIII E	2 - PADDOCK CT & FIELD VIEW DR							
CONLEDGE	2-1 ABBOOK OF A FIELD VIEW BIX							
1	MOBILIZATION	LS	1.00	\$100.00	\$100.00	1	\$100.00	\$0.00
2	ADJUST MANHOLE RING & COVER	EA	4.00	\$170.00	\$680.00	4	\$680.00	\$0.00
3	ADJUST VALVE BOX	EA	2.00	\$100.00	\$200.00	0	\$0.00	(\$200.00
4	SUGAR ROCK, 3" TO 6" NOMINAL	Т	100.00	\$17.00	\$1,700.00	457.35	\$7,774.95	\$6,074.95
5	REMOVE & DISPOSE ASPHALT PAVEMENT	SY	995.00	\$3.00	\$2,985.00	1150.2	\$3,450.60	\$465.60
6	REMOVE & REPLACE CURB & GUTTER	LF	29.00	\$19.00	\$551.00	70	\$1,330.00	\$779.00
7	MILL & REMOVE ASPHALT CONCRETE PAVEMENT	SY	1767.00	\$0.75	\$1,325.25	1767	\$1,325.25	\$0.00
8	AGGREGATE BASE COURSE	Т	325.00	\$16.00	\$5,200.00	254.28	\$4,068.48	(\$1,131.52
9	AC OVERLAY, CLASS G, TYPE 1, 2"	SY	3940.00	\$4.00	\$15,760.00	3940	\$15,760.00	\$0.00
10	AC LEVELING COURSE, CLASS G, TYPE 2	TON	175.00	\$38.00	\$6,650.00	188.61	\$7,167.18	\$517.18
11	AC FULL DEPTH REPAIR, CLASS G, TYPE 1	SY	995.00	\$9.00	\$8,955.00	1150.2	\$10,351.80	\$1,396.80
12	SODDING	SY	10.00	\$3.15	\$31.50	0	\$0.00	(\$31.50
13	TRAFFIC CONTROL	LS	1.00	\$850.00	\$850.00	1	\$850.00	\$0.00
14	INCIDENTAL WORK	LS	1.00	\$100.00	\$100.00	1	\$100.00	\$0.00
		тот	AL SCHEDULE 2		\$45,087.75		\$52,958.26	\$7,870.5

SCHEDULE	3 - BERGQUIST SCHOOL AREA							
1	MOBILIZATION	LS	1.00	\$875.00	\$875.00	1	\$875.00	\$0.00
2	ADJUST MANHOLE RING & COVER	EA	4.00	\$170.00	\$680.00	4	\$680.00	\$0.00
3	ADJUST VALVE BOX	EA	3.00	\$100.00	\$300.00	0	\$0.00	(\$300.00)
4	SUGAR ROCK, 3" TO 6" NOMINAL	Т	100.00	\$17.00	\$1,700.00	0	\$0.00	(\$1,700.00)
5	REMOVE & DISPOSE ASPHALT PAVEMENT	SY	2051.00	\$3.00	\$6,153.00	1875.92	\$5,627.76	(\$525.24)
6	CONCRETE DRAIN PAN (REINFORCED), 6"	SY	60.40	\$50.00	\$3,020.00	58.7	\$2,935.00	(\$85.00)
7	CONCRETE FILLET (REINFORCED) 6"	SY	13.80	\$60.00	\$828.00	27.11	\$1,626.60	\$798.60
8	MILL & REMOVE ASPHALT CONCRETE PAVEMENT	SY	4200.00	\$0.75	\$3,150.00	4200	\$3,150.00	\$0.00
9	AGGREGATE BASE COURSE	Т	675.00	\$15.00	\$10,125.00	27.89	\$418.35	(\$9,706.65)
10	AC & FABRIC OVERLAY, CLASS G, TYPE 1, 2"	SY	9230.00	\$5.00	\$46,150.00	9230	\$46,150.00	\$0.00
11	AC LEVELING COURSE, CLASS G, TYPE 2	TON	400.00	\$38.00	\$15,200.00	414.29		\$543.02
12	AC FULL DEPTH REPAIR, CLASS G, TYPE 1	SY	2051.00	\$9.00	\$18,459.00			(\$2,259.00)
13	SODDING	SY	10.00	\$3.15	· •			(\$6.30)
14	COLD PLAST. MARKING, 4"	LF	160.00	\$2.35	·		·	\$216.20
15	COLD PLAST. MARKING, 12"	LF	378.00	\$6.85	·		\$2,541.35	(\$47.95)
16	COLD PLAST. MARKING, 24"	LF	252.00	\$13.65	• •			\$170.63
17	COLD PLAST. MARKING, ARROW	EA	2.00	\$262.50	• •			
18	COLD PLAST. MARKING, MESSAGE	WORD	1.00	\$262.50				\$0.00
	PAVEMENT MARKING PAINT, 4" WHITE	LF					\$262.50	\$0.00
19 20	TRAFFIC CONTROL	LS	350.00 1.00	\$1.05 \$3,500.00	,		\$307.65 \$3,500.00	(\$59.85) \$0.00

21	INCIDENTAL WORK	LS	1.00	\$1,200.00	\$1,200.00	1	\$1,200.00	\$0.00
21	INCIDENTAL WORK	LS	1.00	\$1,200.00	ψ1,200.00	ı	\$1,200.00	φ0.00
		AL SCHEDULE 3		\$118,931.60		\$105,970.06	(\$12,961.55	
SCHEDULE	4 - JACKSON BLVD FRONTAGE ROAD - STCI	M01-1053						
1	MOBILIZATION	LS	1.00	\$425.00	\$425.00	1	\$425.00	\$0.00
2	EXCAVATION, UNCLASSIFIED	CY	375.00	\$11.00	\$4,125.00	558	\$6,138.00	\$2,013.00
3	SUGAR ROCK, 3" TO 6" NOMINAL	Т	400.00	\$17.00	\$6,800.00	57.86	\$983.62	(\$5,816.38
4	AASHTO T-180 SOIL TEST	EA	2.00	\$105.00	\$210.00	0	\$0.00	(\$210.00
5	MILL & REMOVE ASPHALT CONCRETE PAVEMENT	SY	1450.00	\$1.35	\$1,957.50	1628.6	\$2,198.61	\$241.11
6	REMOVE & REPLACE CURB & GUTTER	LF	154.00	\$19.00	\$2,926.00	182	\$3,458.00	\$532.00
7	REMOVE & REPLACE CONC APPROACH PAVEMENT	SY	6.70	\$65.00	\$435.50	10.53	\$684.45	\$248.95
8	AGGREGATE BASE COURSE	Т	550.00	\$12.00	\$6,600.00	803.12	\$9,637.44	\$3,037.44
9	SOIL SUPPORT FABRIC/GEOGRID	SY	650.00	\$3.00	\$1,950.00	1552	\$4,656.00	\$2,706.00
10	ASPHALT CONCRETE, CLASS G, TYPE 1	Т	425.00	\$36.00	\$15,300.00	480.18	\$17,286.48	\$1,986.48
11	SEEDING, FERTILIZING, MULCHING	SY	800.00	\$0.50	\$400.00	510.8	\$255.40	(\$144.60
12	SODDING	SY	60.00	\$3.15	\$189.00	25	\$78.75	(\$110.25
13	TRAFFIC CONTROL	LS	1.00	\$850.00	\$850.00	1	\$850.00	\$0.00
14	INCIDENTAL WORK	LS	1.00	\$250.00	\$250.00	1	\$250.00	\$0.00
	TOTAL SCHEDULE 4				\$42,418.00		\$46,901.75	\$4,483.7
			TOTAL		\$373,654.95		\$429,015.82	\$55,360.87

C.C.O. HISTORY INCREASE/(DECREASE)	•	PRIOR ADJUSTED CONTRACT PRICE :	\$373,654.95
CCO #1	\$7,347.60	NET INCREASE/(DECREASE):	\$55,360.87
CCO #2	\$55,360.87		ļ
CCO #3		ADJUSTED CONTRACT PRICE:	\$429,015.82
PRIOR TOTAL =	\$62,708.47	CHANGE TO DATE:	
CONTRACTOR:		DATE:	
ENGINEER:		DATE:	
MAYOR:		DATE:	
FINANCE:		DATE:	
CONTRACT TIME CHANGE +/-: 0 NEW CONTRACT TIME	E: Days		

### CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #2F 2002 MILL AND OVERLAY PROJECTS ST02-1158

MAY 16, 2002

# ORIGINAL CONTRACT AMOUNT: \$366,307.35 CONTRACTOR: SIMON CONTRACTORS OF SOUTH DAKOTA

LINE ITEM	DESCRIPTION	REASON FOR CHANGE
ALL		
SCHEDULES	BID ITEMS	ADJUST FINAL QUANTITIES WITH ACTUAL INSTALLED QUANTITIES.
SCHEDULE 1	- DAKOTA RIDGE STREETS	
		ENCOUNTERED MORE UNSTABLE SUBGRADE THAN ASSUMED DUE TO LACK OF EXISTING GRAVEL
4	SUGAR ROCK, 3" TO 6" NOMINAL	SUBBASE AND EDGE DRAINS. REQUIRED REMOVAL OF SATURATED SUBGRADE MATERIAL.
5	REMOVE & DISPOSE ASPHALT PAVEMENT	SAME REASON AS ITEM 4
9	AGGREGATE BASE COURSE	SAME REASON AS ITEM 4
12	AC LEVELING COURSE, CLASS G, TYPE 2	REQUIRED EXTRA DEPTH OF LEVELING DUE TO EXCESSIVE RUTTING OF EXISTING PAVEMENT.
13	AC FULL DEPTH REPAIR, CLASS G TYPE 1	SAME REASON AS ITEM 4
SCHEDULE 2	- PADDOCK CT & FIELD VIEW DR	
		ENCOUNTERED MORE UNSTABLE SUBGRADE THAN ASSUMED DUE TO LACK OF EXISTING GRAVEL
4	SUGAR ROCK, 3" TO 6" NOMINAL	SUBBASE AND EDGE DRAINS. REQUIRED REMOVAL OF SATURATED SUBGRADE MATERIAL.
DDEDADED B	V·	DATE

PREPARED BY:		DATE:	
	Curt Huus, Project Manager		